Limiting reactant Lab II

Problem: 

What metal will limit a reaction more Ca or Zn?


How can you calculate the limiting reactant for both reactions?

Material: Ca, Zn, Acid (5 ml  1.5 M H2SO4).

Data:
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	IT
	FT
	CT
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	Ca + H2 SO4
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	x

	Zn+2 + H2SO4
	
	x
	
	
	
	x
	


Calculations:
1.)

2.)

 Conclusion: 
1.) Where the reactions hot or cold?

2.) Does this make the reactions exothermic or endothermic?

3.) Define limiting reactant.

4.) How is a limiting reactant related to grilled cheese sandwiches?

